For problems 10 thru 13, solve the bearing and distance
from point A to point B

10. 11. A
B
5102.98 2888
5200.05
A
5000
5000 .
4622.02
5183.11
B
12. 13. 5108.43
A 4930.81
g — 5000
4901.87 5000
4253.91
A
5000
5000

For problems 14 thru 17, solve the coordinates for point B

14. 15.

A S88°30'30"E
5000

16.




SHOW YOUR WORK ON ALL PROBLEMS.

For problems 1 thru 9, solve all angles and distances

1.
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¢ 200.53
a=54.29’
A=15°08'59"
B=74'51'01"
7. B

3652’

525.50

a=392.04'
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C=16"39'56"
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B

90" 45°31

o 7421

c=104.02’

b=72.88'
B=44"29

90°
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323.40

c=327.28'
A=08'49'55"
B=8110'05"

a=423.57
B=4151'40"
C=9516"20"
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90°
¢ 200.20

€=230.32’

a=113.88
A=29°38'

(3)
o 375.00

b=500.00"
A=3652'12"
B=53"07"48"

16°30° 90°
1012.00

A=62'14'34"
B=73'30’
C=27'45'26"
x=1143.59’
y=232.83"
2=1055.46'




For problems 10 thru 13, solve the bearing and distance
from point A to point B

10. 11.
P
fi’*"'b‘ad 5102.98
L3 5200.05
) ,er.)-
A
5000
5000
4622.02
5183.11
12. 13.
B 752.52 55,888
4901.87
4253.91

For problems 14 thru 17, solve the coordinates for point B

14. 15.
B
«,/ 5156.05
<2
&Y/ 5080.86 S88730'30"E
2550 4993.32
5256.41

16. 5000 17. .

5332.87
4723.85

B 4952.75
4951.34



Calculate the coordinates for all angle points in the traverse.
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Calculate the Raw Closure.

ldentify the traverse leg most likely to have the most error.



caiculiate tne coordainates 1or ail angie poinits Iin tne iraverse.

cP—2
5561.81
5297.04
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/o
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(CP—1) 4853.62
4999.94 485362
5000.31

Calculate the Raw Closure. CLOSING B/D=S28"49'10"W 18.10
CLOSING RATIO=1:99.98 or 1:100

Identify the traverse leg most likely to have the most error.
CP—1 TO CP-2




Calculate the coordinates for all angle points in the traverse.

-2 cP-2
Ooops!! Looks like your calculator, 556181 5577.72
(or maybe the office tech) 97. A 5305.46
spit out the wrong coordinates. /
Good thing you are smarter than \
the machine. / \
o £
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5000 24160 - 2N o e
5000 PN v A
CP-5 CP-5 3 05'00

W ep-3/ CP-3
p—7f (CP-1) kg 485862 4869.54
4986.94 5015.86 ' 27.23 S5435.65
000N 5008.72

Calculate the Raw Closure. CLOSING B/D=S28'49"10"W 18.10°
CLOSING RATIO=1:99.88 or 1:100

Identify the traverse leg most likely to have the most error.
=1 T CP—2



